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(IYH UTeH)

I¢ o 3ifaqq W ! FEfaRgq A 4 frg A A ST ST 8 7
3qfaEg

The concluding part of the Veda is known by which of the following names ?
Upanishad

el FHTE STeR + Tfetiad 5 | fohd T o= 0T 9T 37R 3k T ohl &0 AT 7
ECIEEI

Mughal Emperor Babur had defeated Rana Sanga and their allies at which of the
following places ?

Khanua

FrfIRad TRIST @ 1 3eh &1 < Ta9 H ToreT™ o -
() fEfen @) ®R
(ii) BT (b) AFTH
(ili) TEHATE  (c) I=H
(iv) HiEe (d) st
Match the following Maratha Chiefs with respect to their regions :
(i) Sindhia (a) Indore
(i) Holkar (b) Nagpur
(iii) Gaekwad (c) Ujjain
(iv) Bhonsle (d) Baroda
(D)-(c), (iD)-(a), (iiD)-(d), (iv)-(b)

fefetiiad 4 @ ford sl T TR AiEeAT3tl i Tael! SR §6 4 g fora mam o ?
ERIH

At which of the following Buddhist sites women were ordained into the Sangha for the
first time ?

Vaishali
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5. SRR Y e swfitrg fhet N8 “gagH o1 gams” o 8 | STHT AT &, Hefoiiad 8 8
foret rgqarefl ST TS Ry S+ferman T e ¢

T AER

Asirgarh fort located in Burhanpur is known as “Dakkhan ka Darwazza” was built by
which of the following Yaduvanshi Ahir King ?

Asa Ahir

6. TS doTTeld YA TS IS b ST Ueh Tfig sAfaded 9 | I8 WA o (=feriad
Tafra g ueiE g ?

TSR

Motilal Tejawat was a famous personality during the Indian National Movement. He
belonged to which of the following regions of India ?

Rajasthan

7. Tr=feiea @ 9 & |1 1892 o GUwi w1 foear a1 7
1909 <1 Ryg SATerfm

Which of the following was an extension of the 1892 reforms ?
The Council Act of the 1909

8. 1920 T I Y3 & Y191 fet § Uzt ferar 7l foperes g strnfora femarm mam o 7

TATEATA 8&

The first Kisan March in Pratapgarh District of Uttar Pradesh in 1920 was organised by
whom ?

Jawaharlal Nehru

o

9. TrferRea 5 & fepereh S o “HEl weEA” g3 ?

e ardt
“Mandi Conspiracy” took place under the leadership of which of the following ?
Ghadar Party
10. =g T @ fho IRAR TS 3TEeH o SH 16 3R, 1946 i “Tcael HiaTs
fee®” o ¢

gfeew ofi
Who among the following had celebrated “Direct Action Day” on 16" August 1946
during the Indian National Movement ?

The Muslim League
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11.

2021-22 9% 9Ra ¥ 1319 fads (wfafed) @em &, 398 @ aed 31 263 @gH YRd &
freafafgad o fra rsa d i 8 7
A YN

There are 1319 reported mines in India as on 2021-22, out of these highest 263 mines
are located in which of the following states of India ?

Madhya Pradesh

12.

frferfiaa afea =t 37 Tl & e w gAfad o oM o a&di 2 -
(i) T (a) ITfgm

(i) Sawht (b) HETTSE
(iii) fra (c) BETE
(iv) THeT (d)
Match the following rivers with respect to the states in which they flow :
(i) Kameng (a) Odisha
(i) Baitarani  (b) Maharashtra
(i) Girna (c) Chhattisgarh
(iv) Hasdeo (d) Assam
(1)-(d), (ii)~(a), (iii)-(b), (iv)-(c)

13.

eftga, S T Mot 9 % ¢ W T BTl AR W FgH 9l T TaRhTet % Yl & forg
g B, Ra & Ffeiad o 9 foog U= /hgnfad wew o fa 8 7

frgn

Chabimura is famous for its panels of rock carvings on the steep mountain wall on the
bank of river Gomati, is located at which of the following states/UTs of India ?

Tripura

14.

“Teh TR g <l TeE S IRar! 3 2, 98 g o fefaiRaa o 8 few <m |
ferd e 7
HT

“Lake Turkana” is the largest desert lake in the world, it is situated in which of the
following countries of the world ?

Kenya

15.

freferfiga 5 9 fordeh g0 1936 T Ugcil IR WA 5 9 YehRI hT STT1ehT0T feRaT T/aT o ?
T U, AfEE

The forest types of India were classified for the first time in 1936 by whom among the
following ?

Sir H.G. Champion
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16. WRA ® TrseeATdt sfiuadt w1 fomm f=ferfaa o @ foraes gro srearfera fepem mam e 2
TR TEh HIE
The idea of nationwide GST in India was proposed by whom among the following ?
The Kelkar Task Force
17. RA 61 §9 ST < =01 [ (1970-1980) i forwa @TeT HIsHA o He § Fefafied 3 9
fopereh G 3TN H fou Ty feepre g WISt 3R HeRa et (X 31ie) <hl forsht & foray Wifva
[ERIRIRIR
EGIRERICER )
Phase 1 (1970-1980) of the milk revolution of India was financed by the sale of
skimmed milk powder and butter oil gifted by which of the following through the
World Food Programme ?
The European Union (then EEC)
18. WA <hl T=as e ATSHT <h fohd TRl i “TISHTA AT’ o6 T8 § ¥t STHT ST &1 ?
el
Which edition of Five-year plan of India was also known as “Gadgil Yojana” ?
Third
19. 1981 = form arfufem & mem ¥ T9e g TSR S 3R arfior fos S (AETE)
fomfor =t wopll < g oft ¢
sifufrm 61
The creation of National Bank for Agriculture and Rural Development (NABARD)
was approved by the Parliament through which Act of 1981 ?
Act 61
20. Sehi o TSARIERTTT o TUH =0T o ST fohH sieh <hT TS IehT0T &1 fohalT T/IT T ?
IEERIEED
Which bank was not nationalised during the Phase I of the Nationalisation of Banks ?
Vijaya Bank
21, Tr=forfaa & & =i ot fosmar Tsamen =i faum ufog & sem e @ 7
TR <l wifer
Which of the following features distinguishes the Rajya Sabha from the Vidhan
Parishad ?
Power of impeachment
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22. YRA % Fdi= AR B3R I TRl 71 AT | 3IgHTE TS WaH (316 GO |
i o =R H gaT o |
28 SHEd, 1950
The Supreme Court of India was inaugurated on the . The inauguration had
taken place in the Chamber of Princes in the Parliament Building (Now old).
28" January, 1950
23.  TSREAM YEaT TS AT & a¥ 1959 § U=t Tl el Ar] sl T8 oft | 38 dad gt
TS < fohd oot § T foba T o ¢
ELI
Rajasthan was the first state where the Panchayati Raj System was implemented in the
year 1959. In which of the following districts of Rajasthan it was implemented first ?
Nagaur
24, VR Giaae 5 U= o Hifd e faga Fefafiaa o 9 form oo & dfoam 9 3w
27
RIS
The Directive Principles of State Policy are adopted in the Indian Constitution from the
Constitution of which of the following countries ?
Ireland
25. YR Gfaue & forg genem 3 oienayn 3 faum guisti eF § Werl-3fead o Ao i
T e g ?
1041 ge Srfefa=m, 2019
Which amendment of the Indian Constitution has abolished nomination of Anglo-
Indians to both the Lok Sabha and Legislative Assemblies ?
104™ Amendment Act, 2019
26. ARG € S €1 U TR < 3 9 o1 a1 JGH T 2 2
EREIRIEIR
Which of the following trees provide medicine for treating malaria ?
Cinchona tree
27. AW o SHe I HRI 15 ?
A o ThTH T SIYHSHIT U
What is the reason behind the twinkling of stars ?
Atmospheric refraction of star light.
28.

uefhfem i Wit AfeTse WA s Sl T Tfsh B |
TAISTEIHT

___isaprocess of forming a thick oxide layer of Aluminium.
Anodizing
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29.

39 9fshaT <1 T8 SdTeU fSHE deuiel 9%k Heehi d fasfia gid @ |
I (HETHTIE)

Give name of the process in which tadpoles develop into young frogs.
Metamorphosis

30.

o g H e TS § He el SEred HEfied d H HH En e 2
CE

Which of the following is the most rapidly dwindling resource in the whole world ?
Forests

31.

IR 9Y g, ¢ 3R feer <t aftma 31y 20 o oft | Afe 31t <a, feer st fiaw i sitaa
I 2598, A 7 94 a1 Foia Y 31 o gt 2
3498

Four years ago, the average age of Dev and Dinesh was 20 years. If today average age
of Dev, Dinesh and Chintan is 25 years, what will be age of Chintan after 7 years ?

34 years

32.

Trafarftaa wfiertor <1 7 <= B 2

What will be the value of following equation ?
2.4x0.72x4.5
x 3
0.18x0.06x0.9
2400

33.

FfTRaa o & S |1 11 a7 1 e T@nai & a6 o &9 H 516 T8 6T @ 2

Which of the following doesn’t express the square of 11 in terms of sum of odd
numbers ?

1+5+7+9+11+13+15+17+21+23

34.

T T / Simplify
{972 x 3 x (5723} /1 {(37) x 5%
313/510

35s.

T 3 Sfes e ® 1200 W ATk 37 o W1 85% IR G wlian ¥ 800  ferehan
37 % T1Y 70% 37k I8 T | I uftomy gt wdiemnati & T faera (%) W e 7,
A e R (%) 3

Darshan scored 85% in Preliminary exam with a maximum marks of 1200 and 70% in

Main exam with a maximum marks of 800. If the result is based on the combined % of
the both exams, the combined % is :

79%
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36. ‘whed’, TR IR Yeagear g fefiRad 6§ ferweh weraTeh vTeg & 2
Hed

37. TR gEfam sR I gE T@a g 2
AGHE = G + 3G

38. “3TIThAT Q¢ 3R Shivret T HIg TAIehITeh o1 372 &I &I ?
T-TS @Il W & 7 ¢, B @l H hod! TG@H |

39. A H g aH a1 I AYG B 2
T 36T TUT-TEE I T |

40. “fgardi I o vadh I B A HH E 2
T HETEN TG

41. Which of the following is not an antonym of ‘Rabid’ ?
Fanatic

42. Give meaning of the following idiom :
‘A man of straw’
having no integrity

43. Identify a correct spelling from the following :
Connoisseur

Read the following paragraph and answer the following questions (Q. 44 and 45)

The self-portrait is nothing new. Painters and photographers have always used
themselves as subjects. Today, however, almost everyone walks around with a camera in his
or her pocket. This is because most cell phones have cameras on them. The fact that most
people have cell phone cameras with them all the time has led to the rise of the selfie. A
selfie is a self-portrait usually taken with a cell phone.

Since the pictures are usually taken on a cell phone, many people tend to share these
photographs with friends and even strangers on different social networking websites. Some
of the popular social networking platforms people use to share selfies include Instagram,
Snapchat and Facebook. People usually take selfies when they are engaged in normal day-to-
day activities. They take selfies of their commutes to work or school. People take selfies of
themselves eating. Other people take selfies to show what they are wearing or whom they are
hanging out with.

44. s self-portrait a new thing ?
No. It has existed since long.
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45.

Which social networking platform is not mentioned in the passage ?
Twitter

46.

feu TTu foshedi © & fowm @@ wrd i :
Find the odd number from given options :
5061

47.

3T, 2001 T fopT TG T IR AT 2

On what dates of April, 2001 did Wednesday fall ?
4th, llth, 18th, 25th

48.

ST 3TN TG WTE-9 & | HH19 & o 9= § 37 98 G0 1 9T 8, S g1 b1 T 7 | &
%1 Teh 81 92T & | <51, U 1 SHIG 81 & | ST, GO § e TepR Eeiferd & 2
qret

Barkha and Chandresh are siblings. Manish has two children and he is son of Suresh,
who is father-in-law of Hansa. Hansa has only one son. Chandresh is not son-in-law of
Suresh. How Barkha is related to Suresh ?

Grand Daughter

49.

Frfafad woa § A9 U 31K 30 a1g I’ Ry 1 10, 111 3R 1V feu e § | smvet few 7o
HAT ! G HHAT 8, Wl B of AMHAR T F1d a2 & F9=1 gdid B & 3 fo a3 6t 2 fos feu
U skt § | A A1 A [ a2 h SUT A gU feu T et 1 dfeheh €9 8 STERU
FATE |
HU : P TS Tgh & | hIs Hgeh STt Tl & | Tft Goof S7eA % |
T : 1. RWU@%I

I $S el St & |

1l. $B %ol Whmieat & |

IV. i3 §S% | T2 ¢ |

Hee TV FTTE HLT R |

In this question, three statements are given followed by four conclusions numbered I, II, III and
IV. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements : Some trains are roads. No road is jungle. All flowers are jungles.
Conclusions : 1. Some trains are flowers.
II. Some trains are jungles.
III. Some flowers are trains.
IV. No road is flower.
Only IV follows.
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50. SH YL H, S HAUT A IR B RU T E | A HYF I1 il T HRUT & Tehd & IT T hRT AT

HTHT= S0 < TWTE &l Gehel & | $TH & Toh e QUL HeH 1 THIE Bl Hohdl & | QI HeHT
1 Ue 3R vl o for feferRaa § @ i a1 3 foehed 59 1 el & o= o g9y <l
TR ET Y eI ¢ |
A : SER I eTh, S8 TS 1T W15 oM o foT s smeed B afg g5 8 |
B : 4TS AT A ITet AR Shl e H sk fiwree 318 7 |

Ife Sl Y A 3R B AT HRU R |

In this question, two statements A and B are given. These statements may be either
independent causes or may be effects of independent cause or a common cause. One of
these statements may be the effect of the other statement. Read both the statements and
decide which of the following answer choice correctly depicts the relationship between
these two statements.

A : Budgetary allocation for building a better railway network, e.g., constructing new
railway lines, has increased.

B : There has been a substantial drop in the number of passengers opting for air travel.
If both the statements A and B are independent causes.

S1.

TR BT o ToIT T8t Tumft 3R Tt she (Fiugdt) o1 Sgamed Ui & f=faled o @ foa
TS/ ied Yo § fepa o 8 7
7% feeett

The First Permanent Aadhaar Enrolment Centre (PAEC) for Indian Army has been
inaugurated in which of the following States/UTs of India ?

New Delhi

s52.

frfafga 7 9 frg ol Te™ 3 8 & H TSl 0 SfiemE d@nst % R e
Y fETRTT <hT AT I hT R 7

TR AT
Which of the following Union Ministry has recently launched the ‘“Scheme for
Expansion and Modernization of Fire Services in the States” ?

Ministry of Home Affairs

53.

R HRA H 90 Tl T i S T o < foTu Afgell Ua S1et HaTerd g1 UE 9reoy 778 1
ehI< |1 TEhT0T JEATIId fShaT T & 7
631

Which edition of Rashtriya Poshan Maah has been proposed by Ministry of Women
and Child in order to foster nutritional understanding across India ?

6th
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54.

“SaNGRAH - TP % TeT¢ GUi&rd Wis : dfverh @ fames Tifeskio dege” gHamR
76 <N < @Te TR STTUEhIvT ST Ush SaT9eh SI98 & | SaNGRAH 7 shadt fedt it
JUSH H Sfes B WRATE WIWI3A! H Hi Iuered @ | a8 Fefetigd 0 & forg o o Sucisy &
87

g
“SaNGRAH — Safe food for Nations : Global food Regulatory Authorities Handbook”
is a comprehensive database of Food Regulatory Authorities from 76 countries

worldwide. SAINGRAH is available not only in Hindi and English but also in six Indian
languages. It is not available in which of the following languages ?

Oriya

5sS.

T e ifa (TAsdt) 2020 Fi Ed TS & T P ST TAlw fhT 7T g TRA BRI
TSR hl TS T8 7
S ST 918K

What is the tagline for Nav Bharat Saksharata Karyakram launched during the
celebration of 3™ anniversary of National Education Policy (NEP) 2020 ?

Jan Jan Sakshar

56.

freferfiga 3 9 forea 11 €1 0 IBSA forga @t 1 waol e Sftar g ¢

Rt fgen sarss (gfeafia) frke dm
Who among the following has recently won the gold medal at the IBSA World
Games ?

Indian Women’s Blind Cricket Team

57.

Ty 2023 o foru 78 Ter TP TETET I 2fi 1 A1 T |
fervamar =1 Ao SR IRk Tegear @i R & Spa e |

Name the theme of 78" United Nations General Assembly for year 2023.
Rebuilding trust and reigniting global solidarity.

S8.

B & H, JU A 4 2 MRt g o fore, st qaigar fole staamen | vt
ool & 3mem W, Sfera 21 U gu | Frefefed 3§ @ fovg o 1 hufai § @ &9
T JaTted 8 aehdl 8§ ?

ERR

Recently, the European Commission adopted its adequacy decision for the Data
Privacy Framework. On the basis of the adequacy decision, personal data can flow
freely from the EU to companies of which of the following countries ?

U.S.A.
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59.

B 21 1, eferan 3 fava @ sid (WMC 2023) & Tohm weahor o Aerart h 8 7
263

Recently, Australia has hosted which edition of World Mining Congress (WMC 2023) ?
2 6th

60.

S =ha Bl 26 JottE, 2023 1 A, FH= § ARG A % 599 T # arde
oo Tsh o foTT STEHTE e (Tetary uitade X STat-8eehil 9t 378981 o fofu <A1 T
21 g fefafaa i a fra cw e wefa € 7

Tses fehren
Jim Skea has been elected for IPCC (Intergovernmental Panel on Climate Change)

Chair for the seventh assessment cycle on 26 July, 2023 at the 59™ Session of the IPCC
held in Nairobi, Kenya. He belongs to which of the following countries ?

United Kingdom

61.

fe Jeme fem wit aefin g feorerm swifien (Tionuge=s) Sorary afedt @ age
H AT (TTUHTEET) % dgd e 2 | et % sidid et fohaq e ofear fope o
27

The National Mission for Sustaining the Himalayan Ecosystem (NMSHE) is the

mission under the National Action Plan on Climate Change (NAPCC). In total how
many missions were launched under NAPCC ?

8

62.

AT TosTH |8 (11Sc) 3T T&AHAT 1909 T B WTeT IHRER, WRA 9hR 3R Ffaiad
7 ¥ forg Femmfd < o9 T Rl @Teigr g & 78 off ¢

RIS JERETSt 2Tt

The Indian Institute of Science (IISc) was established in 1909 by a visionary
partnership between the Mysore Royal Family, the Government of India and which of
the following industrialist ?

Jamsetji Nusserwanji Tata

63.

TR T Tcdeh a9 TR ot Seqvr e fferiiaa o @ fopg fem o Siran & 2
14 fegst

The National Energy Conservation Day is celebrated on which of the following day in

India every year ?
14" December

64.

HaaTteran f&wor 3rvRmey Wi o Fefafad 5 8 fovm U= /hganfaq ven d i © 2
T F TR gaet

Satmalia Deer Sanctuary is located in which of the following States/UTs of India ?
Dadra & Nagar Haveli
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65.

freferfiaa § @ 61 |1 YRa & Tgafd o g < fore fatees deet o1 o7 e g ¢
faem uiteg & faifaa vgw

Which one of the following does not constitute the electoral college for electing the
President of India ?

Elected members of the Legislative Council

66.

“qqft grd” YrRd o Fefaiad 3 9 forg Tsa/shgenfad Tew § fera 3 7
feurae wew

“Pangi Valley” is situated at which of the following States/UTs of India ?
Himachal Pradesh

67.

Hictehral § feurd e fafereme uke fafafga s e fra g a awaftra 3 7
et

The Pat Williamson Ground situated in Kolkata is associated with which of the
following sports ?

Polo

68.

fafeTRaa o & S = SHE 9 6 T @ 7
AR

Which of the following is the capital city of the Union of Comoros ?

Moroni

69.

frefafaa & @ fraa «faeea - Scafa- fogm, vmmeme 3 sregrd-fas W T @ goE
AT T ATHeh J&ieh forat off ?
ot TR

Who among the following had written a book named “Nirukta — the oldest Indian
Treatise on Etymology, Philology and Semantics” ?

Sri Yaskacarya

70.

frefefaa o @ fopa STaigi dmea w1 geITer e, JaTses e g 7

i - (g 3 )
Which of the following international organisations is having their headquarters at
London, United Kingdom ?

International Maritime Organisation
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Freferiaa Tt Sl Ugeht I8 TTT ST o TR G ¢ (. 71-75)

BN STeIehTel o BRI &l o =1 & fuiitd std 2, 31d: Ife J9e T gl Ta 08 i
= BT T I 919 it S wfe aun frgia i fomwar 7€ 8, S geereta sew w g, at
o5t 37wy W oft et <t 19 ueht 3T wfersy & 3k S oft IE & STER T au SRR
g | forer weh T sheex T 2 S foRER gEeh i Werm I8 & Sifow U8 qeh Yo & € vl & S
B, I 98 W haed g Toraeht ufifer gR Sfam &1 3R gu 8 3 qEash v e 8 R greret 39
eI ST ST Ehal & |

STTCHTHEAT 1 37 B - 370 S ¥R &1 | 511 sl Qe o 48 ol 81 aTohd o &1 ST BId
2 | I ST % ot W HH Hid T AT B | 3neAfisiar 1 319 § - g, B
AT Y <Y STTETIHATST hl Gfed BT | Ao, THIS AT TY W IcHATITATE hl HIGHT, ST
&1 Uik 3 | WEade Saq hl TheAdl 6l Uil il & | Iheidl I v o fow saferd !
IS AIYT BT T1ET | TTaois Safed, THTS 3R TF o Sie H 1107 Therdi-STiH
HEMA & | Taeiad Siia T SHed YN &, S qT HUATHRET 1 $9¢d & | Faior 3=fd 1
IMURR |

e e T BT, IHH STTCHHYET B, 1 UHT his shidl Ta1 78 98 7 L Heh | T ]
IS o " s i HE ST ST, 98 A9 g8 FAvaTE €, 310 ST 8 39 319w & U Rt
Nl | SaTaetsl AS Sffed 8§ vl ot Srharan 1 4g T8l ¢@dl | 98 Siad o & &9 § W
HTHATE BT ST & | Therdl dl TaTacts! AT shi gt st &t & | e oot o1 & 31
3 R € fervama €Y, a8 WolT o S T ? Wiy 36 fadia form saferd o strenfasiwan gnft, a8
Fuft forelt o | TE PR | I8 S UT e Auere 9 ¥ RO | AT H g9y 9wl
s H1 9 BT 2 | Tod &1 01 off 7 hi st § 2 |

71.  Sied 1 ghardl sl Teell Hig wa EHi g ?
SHATCHR 1T |

72, Sro1d % TIerh] o1 9= W T IECUSAT R 7
PR F TR - AET A TR NI R |

73. WA HESATT-ITH HT HETHH TG o FTAR TS 2
JMTEATRET 3R STTwad

74, TALEI’ qUT ‘IR vrec] & foret| ®9 shAw: forg fosheq 48 2
ﬁzng - Tlﬁl_scl:f

75.  “BHAAr, “Br” IR “HATAMRAT weai o foimm st &
Hifea, giewn 3 Hife
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Freferiaa Tt i Ugeht I8 TTT SR o TR ST @ (.76 — 80)
HI 3R gafts i firar wrefergs o SH-54 61 S a1d off | g SH-99 ga ‘gai
&1 3wt & fayfed g 9 3 gafte aoea swfert & o “frey | g™ =k 3T gya =l
Taftd o, q Hafis g o 99 3R 9H Bl | T2H 1 Sied Sl ga-Tar 3R datgsy § fovame on ar
foeitr =1 Sfia & fretor 3 fator 8§ | gFt € ot fowdia et & awm 9, fo6e off 3ok w1 oA
FTeht T -|idT 378 A= ST Tt of |
I8 AT 8, S & IqTHeh SeS sl 37 e o et o fomr =4 € 71 o1, W a8 9 e
o1 o T UM 1 WAl <hl alE AT | forvama T arer fig oft et < i | %8 31 faaton
! hicd T HieId 41 T AT | FTS 319 ardt § gafis 9 shad-fFAaior (mer) =1 319 8 -
3TeHT 1 geg W ferordl | Gefis 6ot hed-qg gi qeg T feororr Hied 2 B | <8 ol 370 31 |
s R |
TH <8 ! SATIT I G hleh B § PEHN Tl [GATd, Ffcsh HEl o (018 T FAN FeId &l |
<8 S | Ffth 1 W ohl IROT H 2 | SRR - hal — H Al €8 ! WM o 9919 S(id &1 & &
T I AHAT § | W g1 o1 g fotry IRt fomrar & Ant § wft ek € g3 | gFl ot
ST g TR Higeh TR T 379-319 T=mi sl Tega hid & |
76. <g-oAT % FeRToT o IR | Hefe w1 o fomm o 2

e <8 =Y | Jith WEH 6l IR0 @ 7 Y |

77.  GEfA SR GST o forwer 8§ i @1 fosheq @i 2 2
for &1 g oft 37 @ 3 St Rrgia feraia &

78.  Sfied 1 Gu=Tar 3R ratysy | ferwent farvema o 2
I H1

79. “3TTedT 1 §og R o= &1 #ieg 8 U fohdent o1 B 2
S

80. MY 37T GANT 1&gl § SHHT: Teh UL &
fa sy
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(9. 81-85) : fe@ 1 7% 10 W& A, B, C, D, E, F, G, H, I, J H 1 &R &3 Alpha, Beta
3T Gamma % ITANTShd 1311 shl G&AT AT & |

(Q. 81-85) : The given graph represents the number of users of three Telecom services
Alpha, Beta and Gamma across 10 cities A, B, C, D, E, F, G, H, I, J.

81.

IUTRTRAIRA S (F=m )

Number of users (in thousands)

800 800 BIHI
750 750

630 651}

700 ﬂ 0 04
) -

i)

SO0 SO
130

150

H 1 1

[ Alpha = Beta B Gamma

vt g8 w&0 § THetTet Beta 3T Gamma % STFTTShd13A1 shl ot TR fehal 8 2

What is the total number of users of Beta and Gamma across all ten cities together ?
11250

82.

IME A’ T Alpha 37 Beta o Tsh H1Y SUATThd 3T shl T, ‘E’ | Beta 3T Gamma %
Teh G1 IUANTRAI3! <hl AT k1 fehd=T Ufererd 2 2

The number of users of Alpha and Beta together in city ‘A’ is what percent of the
number of users of Beta and Gamma together in ‘E’ ?

85.71%

83.

Tt g\ I&U | et Alpha 3T Gamma o STATTeRd i <ht 37 e fehat & 2

What is the average number of users of Alpha and Gamma across all ten cities
together ?

547.5

84.

& B’ T U 1Y Alpha, Beta 3R Gamma % SUTehd 3l shl et T, &L ‘H’ § T
Y Alpha, Beta 3R Gamma % STIRTShAIST bl ol HE&AT b1 G § o fohad fewra
HHE?

What approximate percent less are the total number of users of Alpha, Beta and
Gamma together in city ‘B’ compared to the total number of users of Alpha, Beta and
Gamma together in city ‘H’ ?

21.05%

8s.

& ‘D’ H Uk T1Y Alpha, Beta 3 Gamma % IUINTShAIST hl TE&IT 6T I ‘I’ H Th
Y Beta 3 Gamma % TR o1 ST & ST 1 8 2

What is the ratio of the number of users of Alpha, Beta and Gamma together in city
‘D’ to the number of users of Beta and Gamma together in city ‘I’ ?
21: 11
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(. 86-90) : F=feTRaa T@m Ik 1 LYEs TeRA L 3 A= few 7 el & W
frfeiad @1 7T a9 2023 H el 6 | 10 T Tt H Te aTel BT o Fcrd i ST & |

(Q. 86-90) : Study the following line graph carefully and answer the questions given below :
The following line graph shows the percentage breakup of students studying in school from
Standard 6 to 10 in the year 2023.

e : forermera o ot ferenfiat <t @am 2200 2 |
Note : The total number of students in the school is 2200.
35

30
30

25 25
20 18
15 12
10
5

0
2= 1K) wer 7 w8 HET 9 &1 10
Std. 6 Std. 7 Std. 8 Std. 9 Std. 10

86. el 6 IR HaT 9 W fhetet Tt it o1 @, wear 10 # foenfort i o1 @en @
T o wfcrera 317k 3 2

The total number of students in Std. 6 and Std. 9 together is approximately what

percentage more than that of the total number of students in Std. 10 ?
187%

87. afg e 6 W, TTSehi T ISR & U 6 : 5 7 3 BT 6 H ASRAT 1 oI HE&AT HeT 7
H TAefRal <hl ol T H 50 A 7, I e 6 T H& 7 H TShI hl ol GG HI AT
T I |
If in Std. 6, the ratio of boys to girls is 6 : 5 and the total number of girls in Std. 6 is
50 less than that of the total number of girls in Std. 7, then find the ratio of the total
number of boys in Std. 6 to Std. 7.
5:6

88. I 2024 H, HeTT 6 3 HAT 7 TeIh T BT b1 HeT WA H 10% hl Iheg BNt & 37 ham
10 H BT 61 BT T H 20% 1 1 Blell 7, I 2023 H H&T1 6 3R 7 H AT BH1 I
el AT 3T 2024 H T 10 T BT 3h1 ot T o e IR R 7 2
If in 2024, the total number of students in Std. 6 and Std. 7 is increased by 10% each
and the total number of students in Std. 10 is decreased by 20%, then what is the
difference between the total number of students in Std. 6 and 7 together in 2023 to that
of the total number of students in Std. 10 in 2024 ?

946
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89.

T 8 T TIGeh! ohl Hol TEAT “x” & 3T HedT 9 H TASehi ohl ol AT “x + 40” 7 | AfE HaT
8 3T e 9 T Tietrent ergfeha <hl et Tam 120 &, a1 “x” <1 B HTd ShITTT |

The total number of boys in Std. 8 is “x” and the total number of boys in Std. 9 is “x +
40”. If the total number of girls in Std. 8 and Std. 9 together is 120, then find the
value of “x”.

250

90.

hefT 7 3T et 8 H THcATeht T ohi ol T IR HaAT 9 R ey 10 H et B i
Pl T & s oheT 3T R 2
What is the difference between the total number of students in Std. 7 and Std. 8
together to that of the total number of students in Std. 9 and Std. 10 together ?

198

(. 91-95) : TTFAHT hT EAYGh ST i I Iqeh <l TT T J1 6 I G

(Q. 91-95) : Study the table carefully and answer the questions given below it :

<hg o1 Thet farfi Tmer 3t Sueht femamor 3 )

Centre’s gross fiscal deficit and its financing (in

)

q¥/ | focii |9em3Em/| 3=
Years | ®@T/ | Market | el / | €eT/

N

Fiscal |BOrrowings|  Other |Budget
deficit Liabilities | Deficit

2015-16| 68800 31440 43940 1075

2016-17| 71350 44200 28155 | 10925

2017-18| 77845 31110 41660 | 24315

2018-19| 99050 43500 67360 1025

2019-20|114850{ 75030 45755 4345

2020-21| 80065 68570 32750 —

91.

ferTa oot H ST 3R 1 37Ed Pt forehir =1e o1 it fehe wfewrd 2 2

The average of market borrowings is approximately what percent of the total fiscal
deficit over the years ?

9.57%

92.

2015-16 T 2019-20 deh 3719 oI G121 (hUS H) fha1 8 2
T 8,337 S

What is the average budget deficit from the 2015-16 to 2019-20 (in crore) ?
¥ 8,337 crore
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93. form o ¥ forcfr wrrer it o <t gt o Haifuss &g ST & 2

In which year the fiscal deficit increases by the maximum amount from previous year ?
2018-19

94, foi =T & GMeT 31 e o1 gfererd ford o9 o wed 1ReR 3 2

In which year is the percent of other liabilities are the highest with respect to fiscal
deficit ?

2018-19

95, fohaa i o foru forcfiar ©e 3T STSTR 3UR T 31UTd 2 & 317 @1 8 2

For how many years the ratio of fiscal deficit to market borrowing is more than 2 ?
3

(. 96-100) : Fr=Aferiaa arfersht =1 w1 eATYEs 31eH i 3R = fou Te i <6 I <
g Ffcfga dmferehl @ 3R g1 | Fald & 3T 396 $8 Iod gf & | 94 g2 3ifhd qod
(Marked Price) W & ﬁTWWIﬁT{ (Cost Price) & |

(Q. 96-100) : Study the following table chart carefully and answer the questions given
below :

This following table is related to profit and loss and some values are missing. All the
discounts are on the Marked Price and the profit are on Cost Price.

a5/ [AVE| AW | 3R || (%) | T
Article | IeH | (%) /| HeT () | Discount| HcH
)/ | Profit| / () | ®)/
Cost | (/) |Marked Selling
Price Price Price
) ®) ®)
Sfig/Jeans |2500| - 3000 - -
S&/Shirt | — | 30% | - _ -
-3/ — | = | 2875 | 14% -
T-shirt
Tqe/Suit  |2400| - | - ~ | 2840
HTet/Saree| — | 20% | 3800 - -

96. I T 1 TE % IR A % THH 7, e T SFATHA 3Hehd o 1d e |

If the discount % and profit % of the Suit is same, find out the approximate Marked
Price of Suit.
33,478
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97. 3fg Sfi| 1 3ifehd Yoo I % AT Ted | T 420 3fereh g 37 31 o 3ifeha goa 3R fask

T % S o1 3T X 750 7, T T BT 1 TfTd 1 ot |
If the Marked Price of Jeans is ¥ 420 more than the Cost Price of Shirt and the
difference between Marked Price and Selling Price of Shirt is I 750, find the discount
% of Shirt.

18.27%

98.

[ 1 AT o3 (10 b 31Tehd Fod & fohaHT Hfcrerd &4 & 2

Cost Price of Suit is how much percentage less than the Marked Price of Jeans ?
20%

99.

- BT % I TATH % 13U 7 : 57 | -1 T STATHT AT HoI 77 e |
The ratio of discount % and profit % of the T-shirt is 7 : 5. Find the approximate Cost
Price of T-shirt.

32,248

100. IS g 3R AT < AN Yo T ST 4 : 5 7, 1 AT W SFATHT B % 7 B, |

If the ratio of the Cost Price of the Jeans and Saree is 4 : 5, find out the approximate
discount % of Saree.
1.32%
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